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Solving Two-Step Equations
2-2

Reteaching
Properties of equality and inverse operations can be used to solve equations that involve more than one step to solve. To solve a two-step equation, identify the operations and undo them using inverse operations. Undo the operations in the reverse order of the order of operations.
[image: image2.jpg]Problem




What is the solution of 5x – 8 = 32?
	5x – 8 + 8 = 32 + 8
	To get the variable term alone on the left side, add 8 to each side.

	5x = 40
	Simplify.

	
[image: image3.wmf]

	Divide each side by 5 since x is being multiplied by 5 on the left side. This isolates x.

	x = 8
	Simplify.

	Check      5x – 8 = 32
	Check your solution in the original equation.

	5(8) – 8 = 32
	Substitute 8 for x.

	32 = 32[image: image4.png]



 
	Simplify.


To solve 
[image: image5.wmf] you can use subtraction first to undo the addition, and then use multiplication to undo the division.
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	What is the solution of 
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	To get the variable term alone on the right, subtract 5 from each side.
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	Simplify.
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	Since x is being divided by 3, multiply each side by 3 to undo the division. This isolates x.
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	Simplify.


Prentice Hall Algebra 1 • Teaching Resources
Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.
19
Name

Class

Date

[image: image12.png]



Solving Two-Step Equations
2-2

Reteaching (continued)
	Solve each equation. Check your answer.
	

	1. 4f – 8= 20
	2. 25 – 6b =55

	3. –z + 7= –8
	4.
[image: image13.wmf]

	5. 
[image: image14.wmf]
	6.
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Solve each equation. Justify each step.
	7. 6d – 5=31

	8.
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Define a variable and write an equation for each situation. Then solve.
9. Ray’s birthday is 8 more than four times the number of days away from today than Jane’s birthday. If Ray’s birthday is 24 days from today, how many days until Jane’s birthday?
10. Jerud weighs 15 pounds less than twice Kate’s weight. How much does Kate weigh if Jerud weighs 205 pounds?
11. A phone company charges a flat fee of $17 per month, which includes free local calling plus $0.08 per minute for long distance calls. The Taylor’s phone bill for the month is $31.80. How many minutes of long distance calling did they use during the month?
12. A delivery company charges a flat rate of $3 for a large envelope plus an
additional $0.25 per ounce for every ounce over a pound the package weighs. The postage for the package is $5.50. How much does the package weigh? (Hint: remember the first pound is included in the $3.)
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